=
<

=)
©
=
=
o
=
S}

............................

.............

Ratio

TP n (PCA to beamline)

_
= .
<) .

= Lo PP feeeeanns Feeeenes T Feeeeaes
(o] .

o

e} L ot g deeeaaaaaaan
e

o]

107}

10

Ratl

SO RN TN R TR T A R

0953——==1 0 T2 3

—=#— DQM_CKF_XiMinusPU_base

—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch2

=

SICEWATL

1074

-2 -1 0 1 2 3

=

o p/p.)

,_.
<
L

1072

Ratio

2 10 T 23
TP n (PCA to beamline)

z

oo a,) (cm)

1

1074

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


